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Subtraction (Vertical) Name:
Solve each problem. Answers
1
) 7,419 2) 549 3 4,704 4) 945
- 2 - 3 - 9 -7 2
3,
4,
5 7,247 6 893 974 8 788 >
- 87 - 3 - 206 - 18 6
7.
8.
9 2,304 100 8,304 1) 55 12) 6,193 9
- 162 - 704 - 2 - 91
— — — — 10,
11.
12.
13) 45 14) 755 15 728 16) 761 13.
- 26 - 712 - 20 -219
- 14.
15,
16.
17y 4,161 18) 8,444 190 980 200 5,992 17
- 357 - 4,369 -103 - 581
18,
19,
20,
1-10 [ 95] 90| 85] 80 75| 70] 65] 60] 55 50
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Subtraction (Vertical) Name: Answer Key
Solve each problem. Answers
N 7417
1) 7.419 2 549 3 4,704 4) 945
- 2 - 3 - 9 - 7 2. 246
7,417 546 4.695 938
3 4.695
4 938
5 7.247 6) 893 7 974 8 788 > 7,160
- 87 -3 - 206 - 18 6 890
7,160 890 768 770
- 768
8 770
9 2304 100 8,304 1) 55 12) 6,193 o. _ 2,142
- 162 - 704 -2 - 91 o 7600
2,142 7,600 53 6,102
11, 53
12, 6,102
13) 45 14) 755 15) 728 16) 761 13, 19
- 26 - 72 - 20 - 219
19 683 708 542 v 683
15, 708
16, 542
17) 4,161 18) 8,444 190 980 200 5,992 7 3,804
- 357 - 4,369 -103 - 51
3,804 4,075 877 5,941 1. 4,075
19, 877
0 5,941
1-10 195(90(85|80| 7570|6560 |55 |50
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Subtraction (Vertical) Name:
Solve each problem. Answers
53 7,600 890 938 546
770 6,102 768 2,142 7,160 1.
7,417 4,695
2
1) 7,419 2) 549 3 4,704 3
- 2 - 3 9
— 4,
5,
6.
7.
4) 945 5 7,247 6) 893
- 7 - 87 3 8.
)
10.
11.
7 974 8 788 9 2,304 12,
- 206 - 18 162
100 8,304 11) 55 12) 6,193
- 704 - 2 91
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